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𝑷 (𝑩 ∩  𝑨)  =  𝐏 ( 𝐀 ) . 𝐏 ( 𝐁 )

 
𝑷 (𝑩 ∩  𝑨)  =  𝐏 ( 𝐀 ) . 𝐏 ( 𝐁|𝑨 )

  𝑿 
𝟎 ≤ 𝑷(𝒙) ≤ 𝟏

 

𝑷(𝑩 ∖ 𝑨)

https://drive.google.com/file/d/1F9y0cCXdLbNj8_5UfpN7Tx7YnYRN7rWS/view?usp=drivesdk
https://youtu.be/tn4gURUUJcY
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𝑷 ( 𝑩|𝑨 ) =   𝐏 (𝐁 ∩ 𝐀)
𝐏 ( 𝐀 )

  𝐏 ( 𝐀 ) ≠ 𝟎

𝑨𝑷 ( 𝑨 ) =  𝟏
𝟐

𝑩𝑷( 𝑩 ) = 𝟏
𝟔

𝑷 (𝑩 ∩  𝑨)  =  𝑷 ( 𝑨 ) . 𝑷 ( 𝑩 )  =  𝟏
𝟐

 . 𝟏
𝟔

 =  𝟏
𝟏𝟐

 ≈  𝟎. 𝟎𝟖𝟑𝟑 ≈  𝟖. 𝟑𝟑 %

𝑨𝑷 ( 𝑨 ) =  𝟑
𝟕

𝑩𝑷( 𝑩 ) = 𝟐
𝟔

= 𝟏
𝟑

𝑷 (𝑩 ∩  𝑨)  =  𝑷 ( 𝑨 ) . 𝑷 ( 𝑩 )  =  𝟑
𝟕

 . 𝟏
𝟑

 =  𝟏
𝟕

 ≈   𝟎. 𝟏𝟒𝟑 ≈ 𝟏𝟒. 𝟑  %

 
 

𝑨𝑨 = {𝟏, 𝟑, 𝟓, 𝟕, 𝟗}

𝑩

𝑷 ( 𝑩|𝑨 )  =  𝟏
𝟓

 =   𝟎. 𝟐 = 𝟐𝟎  %
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 اختر الإجابة الصحيحة :

1 

Ⓐ
𝟏
𝟐

Ⓑ
𝟒
𝟕

Ⓒ
𝟐
𝟕

Ⓓ
𝟏𝟐
𝟒𝟗

2 
Ⓐ𝟏Ⓑ

𝟏
𝟒

Ⓒ
𝟏
𝟐

Ⓓ
𝟏

𝟏𝟐 

3 

Ⓐ
𝟗

𝟏𝟏
Ⓑ

𝟑𝟔
𝟓𝟓

Ⓒ
𝟖𝟏

𝟏𝟐𝟏
Ⓓ

𝟏
𝟓𝟓

4 

2
3

𝑃(𝐴/ 𝐵)𝑃(𝐵) = 1
2

Ⓐ 
𝟏
𝟑 

Ⓑ 
𝟏
𝟐 

Ⓒ 
𝟐
𝟑 

Ⓓ 
𝟓
𝟔 
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